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S²Ìöì“þÄ„þ !î¦þyöì†îû ‹˜Ä þ™,í„þ vþz_îûþ™e îÄî£yîû „þîûV 
 

!î¦þy† éôé „þ 
£zvþz!˜Ýþ éô 1 

 

1Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV ö²ÕöìÝþyîû ›öì“þ „yîû’y îy xy„þyöìîûîû ÷î!ŸÜTÄ=!œ „þ# „þ#Ú 

 …V òxy!” „þyîû’îû*öìþ™ {Ù»îû x!hßþcŸ#œó éôôôôé xÄy„%þ£z˜y¢öì„þ x %̃¢îû’ „þöìîû ~£z î_«îÄ!Ýþ îÄy…Äy „þîûÐ 

 †V ö²ÕöìÝþyîû ›öì“þ Kþy˜ ~î‚ ¢!àþ„þ ›“þy›“þ !„þ x!¦þ§¬Ú ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ 

 ‡V xÄy!îûÜTÝþœöì„þ x %̃¢îû’ „þöìîû xy„þyîû†“þ „þyîû’ ç œÇþÄ „þyîûöì’îû ›öì„Ä þ™yíÅ„þÄ „þîûÐ 
 

2Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV £z!wëû ²Ì“þÄÇþ öë ²Ì„,þ“þ Kþy˜ ˜ëû‟ ~£z î_«îÄ ö²ÕöìÝþy „þ#¦þyöìî ²Ì!“þÛþy „þöìîû˜Ú ö²ÕöìÝþyîû ›öì“þ ²Ì„,þ“þ Kþyöì˜îû œÇþ’ 
„þ#Ú (10 + 5V 

 …V ö²ÕöìÝþyîû „yîû’yîy” îy xy„þyîûîyöì”îû !îîû&öìkþ xy˜#“þ xÄy!îûÜTÝþöìœîû ò“,þ“þ#ëû ›y˜î ë%!_«ó¢£ xþ™îû öë ö„þy˜ ‰þyîû!Ýþ 
ë%!_« xyöìœy‰þ˜y „þîûÐ S15V 

 

£zvþz!˜Ýþ éô 2 
 

3Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV ö”„þy“Åþöì„þ x %̃¢îû’ „þöìîû {Ù»öìîûîû x!hßþöìcîû þ™öìÇþ œÇþ’¢)‰þ„þ ÷î!ŸÜTÄ !î‰þyîûþ™)îÅ„þ xyöìœy‰þ˜y „þîûÐ 

 …V !ßþ™öì˜y‹yöì„þ x %̃¢îû’ „þöìîû oîÄ ç =öì’îû ¢Á™„Åþ xyöìœy‰þ˜y „þîûÐ 

 †V œy£zî!˜‹öì„þ x %̃¢îû’ „þöìîû öîï!kþ„þ ¢“þÄ ç îÄyþ™yîû !î¡ìëû„þ ¢öì“þÄîû ›öì„Ä þ™yíÅ„þÄ !˜îû*þ™’ „þîûÐ 

 ‡V !ßþ™öì˜y‹yîû ›öì“þ oöìîÄîû ÷î!ŸÜTÄ=!œ xyöìœy‰þ˜y „þîûÐ 

4Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV ö”„þy“Åþöì„þ x %̃¢îû’ „þöìîû ¢“þÄ“þyîû ›y˜”[þ îÄy…Äy „þîûÐ ö”„þy“Åþ ¼y!hsþîû „þ# îÄy…Äy ö”˜Ú ¢“þÄ“þyîû ›y˜”[þ „þ“þ”)îû 
@ùÌ£’öìëy†Ä “þy !î‰þyîû „þîûÐ S6 + 4 + 5V 

 …V œy£zî!˜‹öì„þ x %̃¢îû’ „þöìîû ›˜yvþ “þ_́ îÄy…Äy „þîûÐ !‰þêþ™îû›y’%=!œ ë!” †îyÇþ!î£#˜ £ëû‟ “þöìî ~öì”îû ›öì„Ä 
¢‚£!“þ ßþiy!þ™“þ £ëû „þ#îû*öìþ™Ú îÄy…Äy „þîûÐ  S10 + 5V 

 

!î¦þy† éôé … 
£zvþz!˜Ýþ éô 1 

 

5Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV !˜îûöìþ™Çþ î‰þöì̃  þ™öì”îû îÄyþ™Ä“þy îœöì“þ „þ# öîyGþyëûÚ ö„þy˜ ²Ì„þyîû !˜îûöìþ™Çþ î‰þöì˜ ö„þy˜ þ™” îÄyþ™Ä £ëû ~î‚ 

ö„þ˜Ú  S1 + 4V 

 …V !˜îûöìþ™Çþ î‰þöì˜îû x!hßþc¢)‰þ„þ “þyêþ™ëÅ îœöì“þ „þ# öîyGþyëûÚ ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 †V ¢‚!Çþ® ˜Äyëû „þyöì„þ îöìœÚ ²Ìí› þ™ëÅyöìëûîû ç !m“þ#ëû þ™ëÅyöìëûîû ¢‚!Çþ® ˜Äyöìëûîû ~„þ!Ýþ „þöìîû vþz”y£îû’ ”yçÐ 

 ‡V ö„þ˜ ˜îÄ ë%!_«!îKþy˜#îûy x¢› !îöìîûy!„“þyöì„þ ÷î„ îöìœ ßþº#„þyîû „þöìîû̃  ˜yÚ vþz”y£îû’¢£ îÄy…Äy „þîûÐ 

6Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV xV !˜îûöìþ™Çþ ˜Äyöìëûîû ö„þy˜ !˜ëû›!Ýþ œA‡˜ „þîûöìœ xîÄyþ™Ä ö£“%þ ö”y¡ì ‡öìÝþÚ vþz”y£îû’¢£ !˜ëû›!Ýþ îÄy…Äy 

„þîûÐ S4V 

 



(2) 
 

 

  xyV ¢›!îî“Åþ˜ îœöì“þ „þ# öîyGþyëûÚ !˜Á¬!œ!…“þ îy„þÄ!Ýþîû ¢›!îî!“Åþ“þ îû*þ™ „þ#Ú S2 + 1V 

   òòö„þyöì̃ y þ™y!… ˜ëû hßþ˜Äþ™yëû#óóÐ 

  £zV !˜îûöìþ™Çþ ˜Äyöìëûîû !˜ëû›y %̃¢yöìîû !˜Á¬!œ!…“þ ë%!_«!Ýþîû ÷î„“þy !î‰þyîû „þîû ƒ S4V 

   ¢î ›y %̃¡ì ›îû’Ÿ#œ ~î‚ ö„þyöì̃ y ö”î“þy£z ›îû’Ÿ#œ ˜ëûÐ ¢%“þîûy‚ ö„þyöì˜y ›y %̃¡ì ö”î“þy ˜ëûÐ 

  {V !˜Á¬!œ!…“þ ë%!_« ”%!Ýþîû ÷î„“þy !î‰þyîû „þîû ƒ  S2 + 2V 

   i) ë!” ²Ìí› ßþºöì”Ÿ# ~„þ‹˜ îûy‹˜#!“þ!î”ä £ëû‟ “þy£öìœ ö¢ !›íÄy „þíy îöìœÐ 

    ë!” ö¢ !›íÄy „þíy îöìœ “þy£öìœ ö¢ îûy‹˜#!“þ!î”ä £öì“þ þ™yöìîû ˜yÐ 

    ¢%“þîûy‚‟ ë!” ²Ìí› ßþºöì”Ÿ# ~„þ‹˜ îûy‹˜#!“þ!î”ä £ëû‟ “þy£öìœ ö¢ îûy‹˜#!“þ!î”ä £öì“þ þ™yöìîû ˜yÐ 

   ii) £ëû öî„þ ä̃  £Äy›öìœÝþ !œöì…!Šéöìœ˜ xíîy öî„þ˜ä ~„þ‹˜ îvþü öœ…„þ !Šéöìœ˜Ð 

    öî„þ ä̃ £Äy›öìœÝþ !œöì…!Šéöìœ˜Ð ¢%“þîûy‚ !“þ!˜ ~„þ‹˜ îvþü öœ…„þ !Šéöìœ˜ ˜yÐ 

 …V xV ‹!Ýþœ x§ºëû# !m„þÒ ˜Äyëû vþz”y£îû’¢£ îÄy…Äy „þîûÐ S4V 

  xyV !˜Á¬!œ!…“þ îy„þÄ=!œîû î%œ#ëû¦þy¡ìÄ ”yç ~î‚ “þyöì”îû ö¦þ ä̃ !‰þöìe ßþiyþ™˜ „þîû ƒ S3V 

   i) ö„þyöì˜y ö„þyöì˜y xéôé²Ìy’# ˜ëû xéôéþ™”!î!ŸÜTÐ 

   ii) !î¡ì„îû ¢yþ™ xyöìŠéÐ 

   iii) xy› !›ÜT šþœÐ 

  £zV !˜Á¬!œ!…“þ ë%!_«=!œöì„þ xy”ŸÅ xy„þyöìîû îû*þ™yhsþ!îû“þ „þîû ~î‚ ö¦þ ä̃!‰þe þ™kþ!“þöì“þ “þyöì”îû ÷î„“þy !î‰þyîû 

„þîû ƒ Söë ö„þyöì˜y ”%!ÝþV S4 + 4V 

i) ²Ìí› ¢‚ßþiyöì˜ E10 ›)!“ÅþÐ 

ii) ö„þyöì˜y ¢yþ™ çöìvþü ˜yÐ ö„þyöì˜y ö„þyöì˜y ¢yþ™ !vþ› þ™yöìvþüÐ ¢%“þîûy‚ ö„þyöì˜y ö„þyöì˜y ²Ìy’# ëyîûy !vþ› 

þ™yöìvþü‟ “þyîûy çöìvþü ˜yÐ 

iii) ¢îûœöìîû…y „þ…öì˜y£z î¤y„þy £ëû ˜yÐ ö„þîœ ¢îûœöìîû…y£z ö„þyöì˜y !e¦)þöì‹îû îyý £öì“þ þ™yöìîûÐ ¢%“þîûy‚ 

!e¦)þöì‹îû îyý „þ…öì̃ y î¤y„þy £ëû ˜yÐ 
 

£zvþz!˜Ýþ éô 2 
 

7Ð öëöì„þyì˜ þ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S2 × 5V 
 

 „þV xyî!ŸÄ„þ Ÿ“Åþ îœöì“þ „þ# öîyGþyëûÚ òò„þyîû’ = xyî!ŸÄ„þ Ÿ“Åþóó éôôôé ¢‚öìÇþöìþ™ îÄy…Äy „þîûÐ 

 …V xþ™)’Å †’˜y ›)œ„þ xyöìîûy£y˜%›y˜ !„þ ~„þ!Ýþ x÷ìîKþy!˜„þ xyöìîûy£y˜%›y˜Ú ë!” £ëû‟ ö„þ˜Ú 

 †V !›öìœîû x§ºëû# þ™kþ!“þîû ~„þ!Ýþ ¢y‚öì„þ!“þ„þ ç ~„þ!Ýþ ›)“Åþ vþz”y£îû’ ”yçÐ 

 ‡V ÷îKþy!˜„þ îÄy…Äy îœöì“þ „þ# öîyGþyëûÚ ~„þ!Ýþ vþz”y£îû’ ”yçÐ 

8Ð öëöì„þyì˜ þ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒé S1 × 15V 

 „þV vþzþ™›y îœöì“þ „þ# öîyGþyëûÚ ¢î vþzþ™›y£z !„þ vþzþ™›yë%!_«Ú ¦þyöìœy vþzþ™›yë%!_« îœöì“þ „þ# öîyGþyëûÚ vþzþ™›yë%!_« 

›)œÄyëûöì˜îû ¢î öíöì„þ =îû&cþ™)’Å ›y˜”[þ!Ýþ îÄy…Äy „þîûÐ S3 + 4 + 4 + 4V 

 …V xV ¢½þyîÄ“þy †’˜yîû xyöìþ™!Çþ„þ ‡Ýþ˜y þ™!îû¢‚…Äy˜ “þ_́!Ýþ „þ#Ú S3V 

  xyV !˜Á¬!œ!…“þ öëöì„þyöì̃ y !“þ˜!Ýþîû ¢½þyîÄ“þy †’˜y „þîû ƒ S3 × 4V 

i) ~„þ!Ýþ œ%öìvþyîû …¤%!Ýþ !“þ˜îyîû !˜öìÇþþ™ „þîûöìœ ~„þîyîûç ŠéEþy ˜y þ™vþüyîû ¢½þyîÄ“þy „þ“þÚ 

ii) ~„þ!Ýþ xy”ŸÅ “þyöì¢îû þ™Äyöì„þÝþ öíöì„þ öšþîû“þ ˜y ö”çëûyîû Ÿöì“Åþ þ™îûþ™îû !“þ˜!Ýþ “þy¢ “%þœöìœ xhsþ“þƒ 

~„þÝþy öÝþEþy þ™yçëûyîû ¢½þyîÄ“þy „þ“þÚ 

iii) ”%!Ýþ þ™yöìeîû ~„þ!Ýþöì“þ 15!Ýþ œyœ îœ 10!Ýþ „þyöìœy îœ xyöìŠéÐ x˜Ä xyîû ~„þ!Ýþ þ™yöìe 20!Ýþ œyœ 

îœ ~î‚ 15!Ýþ „þyöìœy îœ xyöìŠéÐ ²Ì!“þ!Ýþ þ™ye öíöì„þ ~„þ!Ýþ „þöìîû îœ “%þœöìœ “þyöì”îû œyœ xíîy 

„þyöìœy £çëûyîû ¢½þîÄ“þy „þ“þÚ 

iv) ”%!Ýþ œ%öìvþyîû ‡¤%!Ýþ ~„þ¢yöìí !˜öìÇþþ™ „þîûöìœ ò9ó þ™yçëûyîû ¢½þyîÄ“þy „þ“þÚ 

 



(3) 
 

English Version : 

(Use a separate Answer book for each group) 
 

Group – A 
 

Unit – I 
 

1. Answer any two questions of the following: (2 × 5) 

 a) Explain after Plato, different characteristics of Ideas or Form. 

 b) ‘God exists as the First Cause’ —Explain this statement following Aquinas. 

 c) Are knowledge and right opinion identical? Explain after Plato. 

 d) Distinguish, following Aristotle, between formal cause and final cause. 

2. Answer any one question of the following: (1 × 15) 

 a) How does Plato establish the statement that sense-experience is not knowledge proper? What, 

according to Plato, is the proper knowledge? (10 + 5) 

 b) Discuss, after Aristotle, ‘the third man argument’ and any other four arguments against Plato's 

theory of Idea or Form. (15) 
 

Unit - II 
 

3. Answer any two questions of the following: (2 × 5) 

 a) Explain, according to Descartes, the ontological argument as a proof for the existence of God. 

 b) Explain, after Spinoza the relation between substance and attribute. 

 c) Distinguish, after Leibniz, between Truths of reason and Truths of fact. 

 d) Discuss, after Spinoza, different characteristics of substance. 

4. Answer any one question of the following: (1 × 15) 

 a) Explain, following Descartes, the criterion of truth. How does Descartes explain errors? Examine 

how far the criterion of truth acceptable? (6 + 4 + 5) 

 b) Explain, following Leibniz, the theory of monads. If monads are windowless, then how are they 

co-ordained? Explain. (10 + 5) 
 

Group – B 
 

Unit – I 

5. Answer any two questions of the following: (2 × 5) 

 a) What is meant by distribution of terms in categorical propositions? Which term/terms 

are distributed in which proposition and why? 

 b) What is meant by existential import of categorical proposition? Explain briefly. 

 c) What is an enthymeme? Give an example each of first order enthymeme and second 

order enthymeme. 

 d) Why do the modern logicians not admit subaltern opposition as valid? Explain with 

illustration. 
 

6. Answer any one question of the following: (1 × 15) 

 a) i) Which rule of categorical syllogism, if violated gives rise to the fallacy of 

undistributed middle? Explain the rule with illustration. (4) 

  ii) What is meant by contraposition? Give the contrapositive of the following: (2 + 1) 

   No birds are mammals. 

  iii) Test the validity of the following argument by the rules of categorical syllogism: (4) 

   All men are mortal and no gods are mortal. So no men are gods. 

  iv)   Test the validity of the following arguments: (2 + 2) 

   a) If the first native is a politician, then he lies. 

    If he lies, then he cannot be a politician. 

    Therefore, if the first native is a politician, then he cannot be a politician. 



(4) 
 

   b) Either Bacon wrote Hamlet or Bacon was a great writer. 

    Bacon wrote Hamlet. 

    Therefore, He was not a great writer. 

 b) i) Explains with an illustration, complex constructive dilemma. (4) 

  ii) Give the Boolean interpretation of the following sentences and put them into 

Venn-diagram: (3) 

   a) Some non-animals are not non-legged. 

   b) There are poisonous snakes. 

   c) Mangoes are sweet fruits. 

  iii) Translate the following arguments into standard form and test their validity by 

Venn-diagram method: (any two) (4 + 4) 

   a) E10 – in fig 1. 

   b) No snakes fly. Some snakes lay eggs. So, some animal, that lay eggs, do not 

fly. 

   c) Straight lines can never be curved. Only straight lines can be sides of 

triangles. So, the side of a triangle can never be curved. 
 

Unit - II 
 

7. Answer any two questions of the following: (2 × 5) 

 a) What is meant by necessary condition? "Cause = necessary condition" – Explain briefly. 

 b) Is induction by simple enumeration an unscientific induction? If so, why? 

 c) Give a symbolic and a concrete example of Mill's method of agreement. 

 d) What is meant by scientific explanation? Give an example. 

8. Answer any one question of the following: (1 × 15) 

 a) What is meant by analogy? Are all analogies, analogical arguments? What is meant by 

good analogical argument? Explain the most important criterion for appraising 

analogical argument. (3 + 4 + 4 + 4) 

 b) i) What is the relative frequency theory of probability calculation? (3) 

  ii) Calculate the probability of any three of the following: (3 × 4) 

   a) What is the probability of getting no six's in three tosses of a dice? 

   b) What is the probability of getting at least one ace in three consecutive draw of 

cards from a standard deck of cards, if the card drawn once is not replaced in 

the packet before the next draw? 

   c) An urn contains 15 red balls and 10 black balls. Another urn contains 20 red 

balls and 15 black balls. If one ball is drawn from each urn, what is the 

probability that they all are either red or black balls? 

   d) What is the probability of getting a '9' in two throws of a dice? 



———— × ———— 
 


